Invitation (o Bid No. :

Specification No. RHDW-013/2554

C1I

la

1b

Ic

Id

-1 -

Material, equipment, and specifications for OVERHEAD LINE HARDWARE

General material and packing instructions

Additional to the general instructions, the following shall be observed :

Scope

These specifications cover line hardware for overhead line construction.

Standard
The overhead line hardware shall be in accordance with the latest TIS, VDE Regulations,

DIN, and PEA Drawings attached to these specifications, or equivalent.

Principal requirement

The overhead line hardware shall be marked with manufacturer's name or rade-marlc,
except full thread double arming bolts, full thread stubbing bolts, and washers.

All ferrous materials shall be galvanized after manufacturing. Method of galvanizing and
thickness of coating shall be according to the attached Table “THICKNESS OF ZINC
COATING”. Free samples shali be supplied on request. The samples will not be returned.
Packing

Each item should be packed in suitable packages in sets or picces of 10, 50, 100, or that
specified in Table “Packing Details for Overhead Line Hardware” (see page 3 of 3).

The gross weight of each package should not exceed 40 kg .

If there are severa] packages, the number of package shall be stamped on each package or
each tag, as follows :

package number / ({otal number of packages.

IForin No, ¢3-2/06.11

Page | of 3

Il



C2

23

2b

Material and packing data to be given by bidder

For each item offered, the following details shall be submitted with the bid :
Catalogue number.

Description of materials used for the component parts.

Surface finishing of the component parts.

Zinc coating in g)'m2 orpum (I pm = 0.001 mm).

Minimum breaking strength in kef .

Weight in kg/set or piece.

For each item offered, a detail drawing with dimensions in mm shall be submitted with

the bid.

Packing details
Packing method.
Number of sets or pieces in c.z-lch package.

Dimensions of each packagein cm .

Gross weight of each package in kg (should not exceed 40 kg) .
Net weight of each package inkg .

Number of packages.

If several packages are contained in one big case, further details are required :
Number of packages in each case.

Dimensions of each case in cm .

Gross weight of each case in kg .

Number of cases.

Form No. 93-2/06.11

Page 2 of 3

o



Table

Packing Details for Overhead line Hardware

Quantity
PEA Material No. Packing Method
Per Package

1000120004, 1010000103 18 Bundle
1010200001, 1010200002 20 Bundle
1010010100, 1010200004, 50 Bundle
1010200005, 1010200009
1010200007 150 (15 per layer) Bundle
1010110200, 1010110201, 150 Sack
1010140000, 1010170001,
1010180001
1010110202, 1010110203 100 Sack
1010110204, 1010110205, T, Sack
1010140001, 1010140002
1010110206, 1010110207, | 50 Sack
1010110208, 1010110401, |
1010120000, 1010120001,

-1010120002, 1010130000,
1010130001, 1010130002,
1010140003
1010180100, 1010180201 500 Sack
1010180301 5,000 Sack
1020440102 30 | Sack
1020440103 60 Sack

Form No. 93-2/06.11
Page 3 of 3
I




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

PACKING DETAIL

Specification No.: -

Approved date: 14/08/2558

Rev. No.: -

Form No. -

Page 1 of 3

This addendum is made to be a part of specifications it’s attached.
1.

Table A1 below:

Addendum

Table Al: Packing Detail

Replace the packing detail only for the specific items in the specifications by the packing detail specified in

4,000 mm

Number of
PEA’s material Packing Quantity per
Item Equipment packages/cases
No. method package/case
per pallet
Connectors and cable accessories:
1 Hot line bail clamp (hot line stirrup clamp), for | 1-02-033-0000 Sealed 40 49
main aluminium conductor size 25 mm” to 50 mm” package
2 Hot line protected thread clamp for main aluminium | 1-02-033-0100 Sealed 50 100
conductor size 25 mm’ to 50 mm’ package
3 Hot line protected thread clamp for main aluminium | 1-02-033-0101 Sealed 50 50
conductor size 50 mm’ to 120 mm’ package
4 Compression splicing sleeve, full tension, for | 1-02-040-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
5 Compression splicing sleeve, full tension, for | 1-02-040-0004 Suitable 50 100
aluminium conductor size 95 mm’ package
6 Compression splicing sleeve, full tension, for | 1-02-040-0007 Suitable 30 50
aluminium conductor size 185 mm’ package
7 Compression splicing sleeve, full tension, for | 1-02-040-0009 Suitable 30 50
aluminium conductor size 400 mm’ package
8 Compression splicing sleeve, partial tension, for | 1-02-041-0002 Suitable 100 100
aluminium conductor size 50 mm’ package
9 Terminal connector (lug), compression type, for | 1-02-041-0106 Suitable 50 50
aluminium conductor size 185 mm’ package
10 | Pin terminal, for aluminium conductor size 50 mm’ 1-02-042-0400 Suitable 50 100
package
Overhead line hardware:
11 | Angle steel crossarm, size 150x100x12 mm, length | 1-00-012-0002 Bundle 10 -
4,500 mm
12 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0103 Bundle 20 -
4,200 mm
13 Channel steel crossarm, size 100x50x5 mm, length | 1-01-000-0104 Bundle 20 -
4,500 mm
14 Channel steel crossarm, size 150x75x6 mm, length | 1-01-000-0300 Bundle 20 -
2,800 mm
15 Channel steel crossarm, size 150x75x6.5 mm, length | 1-01-000-0301 Bundle 20 -

11




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 2 of 3
PEA’s material Packing Quantity per Number of
Item Equipment packages/cases
No. method package/case
per pallet
16 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0302 Bundle 20 -
4,500 mm
17 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0303 Bundle 20 -
6,000 mm
18 Channel steel beam, size 150x75x6.5 mm, length | 1-01-000-0304 Bundle 20 -
2,500 mm
19 Channel steel crossarm, size 150x75x9 mm, length | 1-00-012-0004 Bundle 20 -
3,000 mm
20 | Angle steel beam, size 65x65x6 mm, length 1,000 mm | 1-01-001-0000 Bundle 100 -
21 Bolt, machine, M 16 x 170 mm 1-01-011-0201 Sack 100 56
22 | Bolt, machine, M 16 x 300 mm 1-01-011-0204 Sack 80 56
23 Bolt, machine, M 16 x 350 mm 1-01-011-0205 Sack 80 56
24 | Bolt, machine, M 16 x 450 mm 1-01-011-0207 Sack 40 56
25 Bolt, machine, M 16 x 500 mm 1-01-011-0208 Sack 40 50
26 | Bolt, machine, M 16 x 600 mm 1-01-011-0209 Sack 40 50
27 | Bolt, machine, hexagon head, M 16 x 75 mm 1-01-011-0400 Sack 200 56
28 Bolt, machine, hexagon head, M 16 x 550 mm 1-01-011-0401 Sack 40 50
29 | Bolt, machine, hexagon head, M 16 x 600 mm 1-01-011-0402 Sack 40 50
30 | Bolt, machine, hexagon head, M 16 x 650 mm 1-01-011-0403 Sack 30 50
31 | Bolt, double arming, full thread, M 16 x 450 mm 1-01-012-0001 Sack 40 50
32 | Bolt, double arming, full thread, M 16 x 500 mm 1-01-012-0002 Sack 40 50
33 Bolt, double arming, full thread, M 16 x 550 mm 1-01-012-0003 Sack 40 50
34 | Bolt, double arming, full thread, M 16 x 600 mm 1-01-012-0004 Sack 40 50
35 Bolt, double arming, full thread, M 16 x 650 mm 1-01-012-0005 Sack 30 50
36 | Bolt, double arming eye, M 16 x 450 mm 1-01-013-0001 Sack 40 56
37 | Bolt, double arming eye, M 16 x 500 mm 1-01-013-0002 Sack 40 50
38 | Bolt, double arming eye, M 16 x 650 mm 1-01-013-0005 Sack 30 50
39 | Bolt, round eye, M 16 x 200 mm 1-01-014-0001 Sack 80 56
40 | Bolt, round eye, M 16 x 250 mm 1-01-014-0002 Sack 80 56
41 Bolt, round eye, M 16 x 300 mm 1-01-014-0003 Sack 50 56
42 | Bolt, oval eye, M 16 x 150 mm 1-01-015-0000 Sack 80 56
43 Bolt, oval eye, M 16 x 200 mm 1-01-015-0001 Sack 80 56
Insulators and accessories:
44 | Insulator, pin-post type, TIS 1251, Type 56/57-2 1-03-001-0101 Export 2 30
package
45 | Clevis-eye 1-03-014-0000 Suitable 40 56
package
46 | Ball-clevis, ANSI Type K 1-03-014-0001 Suitable 30 56
package

11




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

PACKING DETAIL
Specification No.: - Approved date: 14/08/2558 Rev. No.: - Form No. - Page 3 of 3
Number of
PEA’s material Packing Quantity per
Item Equipment packages/cases
No. method package/case
per pallet
47 | Ball-hook, ANSI Type B 1-03-014-0002 Suitable 40 56
package
48 | Ball-clevis, ANSI Type B 1-03-014-0005 Suitable 40 56
package
Surge arresters:
49 | LV surge arrester, 480 V, 5 kA 1-04-000-0300 Suitable 100 5
package
Meters:
50 | Watt-hour meter, 15(45) A, 3-phase 4-wire 1-06-005-0107 Suitable 50 -
corrugate-paper
package
51 | Watt-hour meter, 30(100) A, 3-phase 4-wire 1-06-005-0108 Suitable 50 -
corrugate-paper
package
2. Sacks used for packing equipment shall have enough durability and shall be made of hemp rope.
3. Bundle packing shall be using galvanized steel wires with diameter not less than 4 mm.
4. Pallets supplied to PEA shall have dimension not more than 1.1 m x 1.1 m (Width x Length) and the total

11

height after containing the packages/cases shall be less than 1.5 m.




Invitation to Bid No. :

RHDW 013/2554 H @@ V J
\‘. P e s - ._.-_'

Specification No. :

C3 Schedule of detailed requirement

PEA
ftem | Material Quantity Description
g No.
1 01000103 Channel] steel crossarm, according to Table 4 of TIS 1227, with :
(Rt Nominal size : 100 x 50 x 5 mm
Length 1 4,200 mm
Thickness of zinc coating,
minimum average : 85 pum
Punched holes, and fabricated as shown in Drawing
No. SA2-015/39009.
2 01000202 Channel steel crossarm, aooording to Table 4 of TIS 1227, with :
(1010000202) ~ Nominal size : 125X 65 x 6 mm
Length ‘ : 2,500 mm
Thickness of zinc coating,
minimum average - : 85 pm
Punched holm; and fabricated as shown in Drawing
No. SA2-015/40005.
3 | 01000301 Channel steel crossarm, according to Table 4 of TIS 1227, with :
(101,0000301) Nominal size 1 150x75x 6.5 mm
Length : 4,000 mm
Thickness of zinc coating,
minimum average : 100 pm
Punched holes, and fabricated as shown in Drawing
No. SA2-015/400089.




Invitation to Bid No. :

Specification No. : RHDW 013/2554

C3 Schedule of detailed requirement

PEA
Itera | Material | Quantity Description
No.
4 01000302 Channel steel beam, according to Table 4 of TIS 1227, with :
00eae) Nominal size 150 x 75 x 6.5 mm
Length 4,500 mm
Thickness of zinc coating,
minimum average 100 pm
Punched boles/slots, and fabricated as shown in Drawing No.
SA2-015/22001.
5 01000303 Ditto as Item 4, but
(1010000303) s 60005500
6 | 01010100 Angle steel beam, according to Table 2 of TIS 1227, with :
(1010010100) | Nominal size 75x 75 x 6 mm
Length 3,500 mm
Thickness of zinc coating,
minimum average 85 pun
Punched holes/slots, and fabricatedias shown in Drawing No. -
SA2-015/22002.
7 | 01010101 Ditto as Item 6, but
(1010010101) Length 4,100 mm




Invitation to Bid No. :
Specification No. :  RHDW-013/2554

C3 Schedule of detfailed requirement

PEA
Item | Material | Quantity Description
No.
8 00120002 Angle steel crossarm, according to Table 3 of TIS 1227, with :

oo Nominal size 150 x 100 x 12 mm
Length 4,500 mm
Thickness of zinc coating,

minimum average 100 pm
Punched holes/slots, and fabricated as shown in Drawing No.
SA2-015/26014.
Alternative
Ditto as Item 8, but according to Table 2 of TIS 1227, with :
Nominal size 150 x 150 x 12 mm
9 00120003 Angle steel crossarm, according to Table 3 of TIS 1227, with :

(1000120003) Nomina! size 150 x 100 x 12 mm
Length 5,000 mm
Thickness of zinc coating,

minimum average 100 pm
Punched holes/slots, and fsbricated as shown in Drawing No.
SA2-015/26014.
Altemative
Ditto as Item 9, but according to Table 2 of TIS 1227, with :
Nominal size 150 x 150 x 12 mm
10 | 01150050 Bolt, double arming, oval cye, forged steel, M 16, 250 mmi long, full

(1010150050) thread; complete with three (3) square nuts, minimum breaking
strength not less than 6,500 kef, sec Drawing No. SA2-
015/40010. '

15



Invitation to Bid No. :

Specification No. :

RHDW-013/2554

C3 Schedple of detziled requirement

PEA
Item | Mzterial Quantity Description
No.
1 | 01150051 Ditto‘as Item 10 , but M 16, 300 mm long.
{1010150051)
12 | 01150052 Ditto 2s Item 10, but M 16, 350 mm long.
(1010159052)
i3 | 02440105 Bracket, of channel steel, 75 X 40 X Ssmm, for aerial cable tangent
(1020440105) -
support, sec Drawing No. S42-015/40018.
14 | 05100003 Bracke, steel, for transformer secondary lead. Complete with one
(1650100003) (1) machine bolt M16x130 mm, one (1) nut, and ome (I)
lockwasher, sec Drawing No. SB1-015/22011 .
15 1010200009 Brace, alley arm, of angle steel, 50x50x6 mm, 1,000 mm long,
see Drawing No. SA3-015/53004 .
16 10100300.05 Plate, steel, 6 x 100 mm, 900 mm long, see Drawing No. SA3-015/49010.

t

Note :
1. Pitches of stee! bolfs and nuts shall be according to the attached

“Nominal Thread Diamefers and Pitches of Steel bolts and

Nuts".

s Dimensions an_d (olerances ¢f M 16 machine bolts shall be as

specificd in the attached “Dimensions and Tolerances of M 16

Machine Bolts”.

ONLY threads of steel bolt and nut shall meet acceplance tests

W

specified in the atiached “Acceptance Tests for Threads of Steel
Bolts, Anchor Rod, and Nut™.



Ei T T P T T T I LT i ’ Dmgb.._w HHM:.EMH—ME

‘Bupe0d oUIZ JO SSOWOIYY,

EE O T T T T T T T T P T .- nﬂmﬂO\H

.—HM.E L T S R T LI L] " ONHW ﬂdnmeoz

“YPIA “TLIRSSOID [921S [oULRYD

E.l D T T T P NP ’ vm‘ﬂhﬂ>._w EﬂwEmﬂ—mE

‘Suneoo ouIZz JO SSOUNOIYY,

(20z000010T)
0ZTOCCTO0

LTI *#ereemssessnesssenssenssnassaunsnssaasnss s e
LU ~+eveeressessesessassinanassatssanssasnass s SZIS. [EUIWON] T
¢ A ° UIRSSOID [99)S [ouTRyD) €01000T0
(payoue (poraeyye .
SUOIIPU0D % SUOIIpuod % 0N ‘0N
S[jEIap 208) $[JU39p 928) Lipuend) uopdrsoq audoeir) | ‘rerdvpy | un
150D [¥I0 ], 30Dl U vid
! 9jeQ ik
‘'ON PID MUPNPSTHUT po
+ J0pPId
: yBuQ yo L13unod f /€ 10-MAHY 3 0N uopuaypadg

$OUEW-IPUIY,

: DIV FOUB A

i
4
i
i
N

|Wl

AdOD

2 "ON PIgl 03 UOHU3IAU]



a.—.m T T T T T

9FeIoAR WNIUIUT

‘Buneoo SulZ Jo SSSmYOI],

T *4rseoreoosssninnnsanarnsenasssrnns & ﬂ.ﬂmdv‘n._”
LI *++reessenemmmnemmssnneninnasssnsns o 521§ [RUILION] o
LI ‘meaq [99)s JouTRyD 20£000710 7
Rl et realiies slaniai s o.mEo% wnuwun
‘Buneoo oulz Jo ssauoOIL
LI *#oeessmsssnsssnmsssanesisnnnsnss s pdueT
LI *eeeseemmesssssssmnansisatanes s 0ZIS |BUION] T
DI ‘WgessoIo [99)S jouner) 10£00010 ¢
(poydeIL (payauie
SUOPIPU0D % SUORIPUO0d %3 N ‘0N

S]jBIIp 235) §[jr3op 2928) Lpuend uopdprsag mdo[uyu) | ‘el | wo
350D [BI0), 3S0D3JuN Vid
HIE e
: "ON PI IPIPS I D
+ 12ppIg
: wBLIQ Jo Anyuno) PSST/ETO-MAHY ;0N uopeoypodg

: yavw-apeay,

 JDINIOUINULIA

2 *ON PIff 07 UOIJUIJALY



I
[Oy] s oSeIoAL WNWLIW
‘Buneod sU1Z JO SSaW{OI L,
LI oo nnnanes s nSuay
LI *+eeeserssesssnsssnnssansnnns s 0Z1S [RUITION e
S IA “reaq 19938 913Uy 00I0TOT0
Ty e 2FeI0AR WHMUTW
‘Buneos oulZ Jo SSUNAIYY,
QLY ** 7o essenrsenassnnsssenesins s 0ZIS [EUTWON Y
* RIAL ‘wgeaq [993s [auuLD)  €0£000T0 S
(paaeyje (poydenE
SUORIpU0? 2 suoppuod 29 0N ON
s[je3ap 29s) S[Ju3ap 228) Lpuend uopdyrosaq audojuau) | creprogvmy | wea
350D B30 3soD 3jun vViad
R
P "ON PII O[PS v
+ 10ppId

¢ uldraQ Jo A13uno)
! aew-apesy,
¢ RINPUFRUBIAL

- cu -

PSST/E10-MAHY ¢ ‘0N uopraraadg

S ON pI{I 03 ﬂcmuuu.«?ﬁH



g T T T P T PP
.

EE L T T T T e T "

EE T LT e
.

Ei BasesdssssenaRRRRRRRSERRRRATRS ”

11

o3eloAR WU

‘Buneod OUIZ JO SSOWYOIL,

Uy
S TeIINAN (Z000T1000T)
{ qHa ‘anessolo 1993s 9[8uy 70002100 | §
28eIoAR WNWIUIW

‘Su17e0D OUIZ JO SSOWOIL

Ty P n80T
EHAEI(A sttt o o218 TEUITION Ay
S pIAL ‘wesq [9938 9j3uy 10107010 | ¢
(poyaene (pa2e338
SUORPU0d 3y SUOI}IPU0D 39 0N ‘0N

S[JU30Pp 395) S[1L30p 928) fRpuend uopydiaasa andoqezey | Cpepoiy | we
350D [BI0L 380D UMl Vid
: Qug
: *ON pPId SPIPTIAY 4D
1 DPPIX
1 urdnQ yo Ayuno) PECT/CI0-MAHY & *oN uopwIody

T yABW-apua],

$ J2AM)OBINUB T

lﬂ.ﬁt

2 *ON PIfI 03 UOBLIIAU]



11
TR} e e AR MR o3eloA® WNWIUW
‘3uneod ouIZ JO SSOWOIY],
o R TR, pSueT
LY ++eeeeemsessssssmmnssnnnns s 0ZIS [RUIION T
: AL “TIesSsSOI0 [99)S o[y £0002Z100 6
| T aSeroAr WU
‘3UnRLod OUIZ JO SSOUNDIY Y.
T T pSuoT
L *+eeeseesesnessnnsannsnanes s 921S [RUTWON]
* AL UIIeSS0I0 [33)S 9[3uy
, SISy
(payaexe (payauye
SUOIIIPUOD % SuopIpuUod % 0N "ON
S[JL)P 995) S[1B30Pp 938) Lpuend) uopdyiasaqg ondoquyu) | ‘qerrvpy | wn
30D [uIo L 180D U Viad
: s ageq
:'ON Pl SMPIYST IS D
: 19pPIg

{ Ul Jo A3uno)
Aew-dpuray,
¢ 10IN32UNUBIA

INM..

PEST/ET0-MAHY & 0N uopuagnadg

: *ON DI 03 UORTIAUY



. vaﬁ TITL I Lt gﬂgw Mﬂw.uﬁmbhnw EB.E__.SE -WMD..C. Bﬁﬂ.ﬁvw ﬁmv
so1qy gy 0391dw0d ‘i 0pg X 9T W ‘04d [eao ‘Buymme ojqnop Gjog

By rereeesereneeeesnne iBusns Supealq WOWIGIW ‘Sinu d1enbs (¢)

o211} MIM 9301doo ‘mur 0§57 X 9T 4o E.S ‘Bumue s|qnop Gjog
Ei T R T LT T T e T .

.ﬂHEN T T LT T LI L]
.

EE L T LT T E e Ly "

(1500510101)
1S00STY0 I

(05005T0101)
0S00STIO | ©

a3eloAR WNWUI
‘BUneOd JUIZ JO SSAUWNDIY Y,
3usy
9ZIS [BUILON

* QIIAL ‘TUIRSSOID 9938 o[Fuy

SATRWSIY
(poypuIL (payauyje
SUDRIPUOD 2P SUOJIPUO 2 “oN 0N
S[[u30p 295) S|jE3ap N§) Apuund uopdpnsoq andorryuny | oy | we
350D [€30.L 3S0D13IUN VL
: g L I
"N DI SIFIYSETNT 30
+ 0ppId

: updaQ Jo Lguno)
[ABW-IpEL],

1 J2INJOUINUB AL

!.Nﬂl

PEST/CLO-MAHY + *ON uoyuoIRadg

10N PI 03 uoyLIAUY



I
"Buo[ Ww (06 W QO] X 9 ‘[ ‘N[ gooogoorot o
- *By0] WW 00T ‘W 9XQSX0S ‘19938 2[3ue JO ‘Wi La[[e ‘Yovig 60000Z0101| <
*Jogsemo0] (1) 2uo
pue ny (T) SU0 ‘W O X 9T JA 3[0q.ouryoet (1) Suo Y3 03o[dmo) (£000010501)
"pea] ALpu0dss JOUIOJSUEN) 10 ‘(9918 Yoyorig £00001S0 | v
Hoecns (SOT0¥+0Z0T)
1waBue) 9[qed [R1SR J0Y ‘WW § X OF X SL ‘993 [9UURYD JO Joxorlg] SOIoppZ0 | ¢
. L e T 3 ﬂﬂH hﬁzwm 2211
prid | mSuans uyeslq WnWU ‘synu o (g) @211 GCeusTon
a ojpldwod ‘ww 0gE ¥ 91 N ‘040 jeao ‘Fupume s[quop 4jog TS00STIT0 | ¢
(poyasiu (poyauvyu
suopnjpuod % suopjpuod *ON 0N
S[1uap 99s5) S[Iu30p 228) fpuend uopdyrasaqg ongdoquis) | ‘ELIIUTA | 1w
150D [LI0L 3S0D:35uN VaLd m
:agu(Q
: 0N I SPIEIEIHIT v
$ 0pPIg
: UIBlQ Jo Axuno) PCST/CI0-MAHY *ON uopuayRIds

$ YABW-0pBIL
£ JoPdEyALE

QVHI

:*ON PIgI 03 UOIU3JAUY



—
[~ "N pA

HOLE

/

LNARY

Vo St filiviias o

100
i
it
—
1 f __‘ 100
350
750
T h 900
200 0 | —
400
> ol 5 900
2922
HOLE
goo SRE S
L [ 750
350
L ~u—}.ﬂ
A

MAT. NO. 01000103

(1010000103)

. ALL DIMENSIONS ARE IN mm.

nsUsEnauaYH
ASSEMBLY NO.

CHANNEL  STEEL

mangUToMN

STEEL CHANNEL ACCORDING
TO TABLE 4 OF TIS. 1227
HOT-DIP GALVANIZED

naviRINss N ILE= RS aNR
IR{iplzplak it

nslwvidugdme

1HUnNULUU

anenulanuuy

mifou onfluns Buglass
TERERD

NG A
VIMUTLHUN
BEWMINGY
HETWILMSHIY

[T
P/

LT

APRIRNK

-

DGR TUN 27 130 8.2539

wnwUuIuh

WMANFUTIOUNUUIR 100x50x5 33, 17 4.2 3.

figdu W

WRTIHIU 15425

SBUHIINS

CHANNEL

STEEL SIZE 100x50x5 mm. 4.2 m. LONG

WUULAYT sa2—-015/39009

GOUR 1 REWIM 1 uHu




QUVANYLS V3d OL DNIQYOJJV QIZINVATVD dId—10H 'E
2221 SIL 40 ¥ TGVl OL ONIQ¥0DDV TIALS TAINNVHO "2
ww NI 34V SNOISNIWIQ TIV °I

SHION
ONO7l Ww 0082 “ WwWw 9 X G9 X G221 ‘ WavysSsSO¥d 1331S TANNYHI
- 0052 -
W 08€ ————
81 un_DI_ _..l |v_oommtﬂ|oom oomlv_n.omm..._-._lom._wml-ﬂ _ ONIJYdS 3710H L7104
B . T u
- T, e o e
] _ _ T
WwW 22¢ 370H ﬁ|mnm|._;mtc_ooomt_.lo$ 00¥ _room.ﬂ_mt mmm|.._.,i ONIJVdS 3710H NId
=T ‘l— -
S e o Sy gy oy e e & e e O
m Moozt I _ e 002+ 002+ ! <002+
<
— <
M .Mn ww Qlg 3710H
p— - =
e o ‘s
=
] o
i Z
ar
|

Ju 1 UHU

uwnfinm\

WHufl 1 vavu

wUULa Y SAZ-015/40005

"I

na  thddIngsy mMsWWiE

2,500 mm LONG

\H38\
CHANNEL STEEL CROSSARM

125 x 65 x 6 mm ,

-
-

o

navIFINssulwvIug

NNAINUS 2540

fafues

fdu

{ JUWN 17

l

|




[ PRELIMINARY

S
Tp] 1
. T +
o 4
0
b ] d-
° - + (&}
\ 1 g =
U"] 1
e i n .
i P Eed % £
— —p—-o—n-- J_ -I-o- IE z .d.-
5 Q o g
3 | & o F
1 = 1 l} a8 e
3 L/ Te] m.
8 o —_ -+ - 5
a o o
T—'I— —— 8 = c t‘
S 43 e : SR
o L n 8 b /-‘—-\ E [ s ]
—4*~ o i ST '. = B
o @ Y I :, e ;S
(o] 128 ] E ._].
™ = i & m
.14 B | olo ,_ |
o ) b : {ip] ot—- (Vp]
o : \ b - ;g
o ] —t— -+ : oJ g nc—ﬂJ
. i b (_ z
o N =
0 =)
- ez o =
¥ 4 L, =
Y G
. ? =
% —o
o l ;
n i
=
vl ok NOTES
1. ALL DIMENSIONS ARE IN mm .
§ - 2 CHANNEL STEEL ACCORDING TO TIS 1227
—L .. TABLE 4 .
= 3. TO BE HOT-DIP GALVANIZED ACCORDING
_—;F_*L TO PEA STANDARD .
nagIFINssHlWMILREFASEINR  HUIFINGIN MsIWHIEIUNINA
Ofubu  UaRwes

CHANNEL STEEL, 150 x 75 x 6.5 mm, wuuiAn sA2-015/40009

4.0 m LONG

Tuf 29 wWOuAAN 2540 waul 1 UDeIuIu 1 wu




-l
TN oUIRe
i = ASSEMBLY NO.
) T " - ;

S T "__ - 1" \ T ‘.“"'-.‘. - I
= ) i .E & - _\'7 !
¢ s
ATIERBN
({6]0000203) SEE DETAIL
AT. NO. 01000303 /_g,a\ _‘:E
[ b o | = ] o iy % = - :
LI

2

|oo-‘ I—650—~|—750—f—750 —=—750 —f+—730——750 750—4-—6»—-14\-(17
[ 6,000

1

L
SEE DETAL
10looco302) ™
i 01000302 /" {ll
= =) z = 3
i _\-._.-/ _l
oo-\ |-—950——f——1.200 1,200 - _950——{ |—100
4500
[

PRELIMINARY

[}
_________________ ¥
Ta*‘e_ PRUEAV=G EHERES
T l&:‘:ﬁ
mﬁm‘ i
‘ DERIL
MAT NO.  NUMBER "oF HOLES # 18 z'MSTEELm TO TABLE 4
(1010000303) 01000303 13 ' oF T8 1227
(101000030 2) 0000302 9 3. HOT- DI GALWANIZED.
R TR o T ' 3 1 124 M0, 2322
; e , ha ________________
. Ir‘?’wy;- Aysed }J e )
#u 21ud 5= mummﬂh‘\m 3 el
s nog A A 7, =

AWIN O X TS X 65 mm

CHANNEL STEEL BEAM
SIZE 150 X 75 X 6.5 mm

l

e

\ wum‘lﬂm-m
\

amun | seeyiuan .




ASSEMELY NO.

PRELIMINARY

qnuu'im %
(010040 101) SEE DETAL
MAT. NO. 01010101

e = 7
| 00

3,900 e

E——— ] Y 1,930

b ——4,100

(1010610100)
MAT. Na 01010100 SEE DETAL

[__c:
200 1,550 -+ Llﬂ/’]
s.uoo,__—————————__'"

NOTE .
{. ALL DWMWENSIONS N mm.

2. ANGLE STEEL ACCORDNG TO TABLE 2 OF TIS 1227
3 HOT—DIP GALVANIZED.

L _._‘ Ny Y e Ok 1 (T U 11 R =)
\ el YRR RRENE ikl 1
| 1 Qouns P TTILIL ATE——
i P o Audniun, 2480 22
i ' ba e ‘_________,“‘___‘_,__,-__,-__...-....-...-.------.------»— ] -
Sk . ML UETLUR L | AR
mem NPwd s san e
L \
] ﬁ'uf mIkbeA -* mmﬂ‘&mm YR 101 CS— .
Fal < n s AR, AN TSX T5X6 HH. wnnifan. . LA —
L PEsa Y —— aueen SA2 —OS/ 28002
M ANGLE STEEL BEAM e .
SZE 75 X 75X 6 mm unnn_ L sochwin 1 _uoe




AnSUs=nauLaat

SNRUIURN , -
PRELIMINARY ’ DETAIL A(T 7" /| ASSEMBLY NO.
f=—— 900 —=—=——900 ——~
2 DETAIL A 18
. S1E e ST DT A . =50
150 [~ R > R ] ~100
¥ 50
SEE DETAL B— /'SLOT 22x68 _—SEE DETAIL C |,|=%g
B =t 0 7 = u_v : — 30" Tio0
2 ST 100 or
150
o— 750 —= 1,000 = 500 == 500 ~—t=—— 1,000 ——t=— 750 —=1
—{250——1,100 } 1,800 t 1,100 ——=42501
= 4,500 ——
€10001200072)
L 150x100x12 mm or 150x150x12 mm, 4,500 mm LONG MAT.NO.00120002
' ' =50
150 1— 1 . - . - ‘ - s =0 - - - ._—l :100
SLOT 22x68 N _o1iB SEE DETAIL D 50
/__ 1 1 1 1 L 1 /Y_ L 1 b:‘s
e - P
Nt 150
—{250= 3,000 | 1,750 ————=
425012501-—500—4—-»500«-12501250&500—4-»500-+-soo‘+-500—+-500-4250|250l-—
- 5,000 ——
(100012 0003)
L 150x100x12 mm or 150x150x12 mm, 5,000 mm LONG MAT.NO.00120003
r———150—-4. P—150—
d T — 1
%58 1000r150 1000r150 e
Tk—aa—t agunon I
—f =12 i — 12
'sﬁummun B AR
DETAIL DETAIL
~——CUT

CONT.WELDED T "1/ CONT.WELDED
50

i i il
I e X LTI

\-—\c‘:o-—-l. f—150 —= ——150—= l

SUR=LBERA
DETAIL C —={25 = - 37 =

NOTES 1. ALL DIMENSIONS IN mm.
2. ANGLE STEEL ACCORDING TO TABLE 3 OR TABLE 2 OF MS.1227.
3. HOT—DIP GALVANIZED.

N2AAINSSULHRALA=LAGNR i - qunuuuy

dngrAanssa A3 LANIZIUANNA e
jFey .. AWUN. Awg.... |~ FHUASRAUN. 14, S
o T I SRR e e

........ g A N 1” 5,”1” 18 u_ﬁ_ A%
Qﬁﬂn‘i...m .......... ” il N
G A, ADUMANZNN 2UNR 150x100x12 N3 fady... JAaums
ﬂ;hmumsnaq-:.m.:rf 38 150x150x12 3. wngsnaan 1:40:1:7.5
h_l‘z']’\U'JUﬂ‘T'ilJ'ltL ..........
‘igﬂé’i’]ﬂqﬁmnﬁnuﬂ:u%nqﬁ ANGLE STEEL CROSSARM SIZE 150x100x12 mm uuuman.%?..ﬂ.1.5[2§@!%..
OR 150x150x12 mm o 4 .

........................... WHUT, 1. 2098w ] uay




FORGED OVAL EYE

PRELIMINARY|

-

Jamanit iR ou . uaoRousdn|  vhwin
nn. nn. 200 Bu JepuasmsaIuin
DIMENSIONS IN mm BREAKING | WEIGHT
MATERIAL &
STRENGTH
MATERIAL NUMBER | D, | A B | C D, i kg/100 Pes SURFACE FINISHING
(1010180080) v
01150050 uie | 250 | so |38 | 14 | > 6500 wannaiasyu
7010 grudonsAmuIIRIEIU NAA.
150 -
0115005105‘) M6 | 300| so [ 38 | 14 | > 6500 MILD STEEL
(1010150050 HOT-DIP GALVANIZED
01150052 w16 | 3s0| so |38 | 14 | > 6500 ACC. TO PEA STANDARD
L 1 w1
naviFnssdlnuaeRsoong  dhedrnss  nsiAEIug A

fgdu -

Juf 21 HNIRAN 2541

BOLT, DOUBLE ARMING, OVAL EYE, M 16

WUULa YT SA2-015/40010

wiud 1 TasWu 1w




PRELIMINARY

Baumslnw

WANTUTNWEY 75, 40x5 *™
CHANNEL STEEL

anl

UU.

ELECTRIC WELDED

mmatﬂi (10204A0105)
02440105

MAT. NO.

wanAauAliaa IMANISATY
AERIAL CABLE TANGENT SUPPORT BRACKET

YRNEWWR — Wa udonsAaunnsguvas nwa.

;

— wanguso WurlaiAsau /i wan. 1227

|

HOT-DIP GALVANIZED ACCORDING TO PEA STANDARD
CHANNEL STEEL ACCORDING TO TIS 1227

T

18
HOLE

>__1 PR Ratae

HOLE mm

zay #18x30 e
mm

nawiFINgsulWWILGsIRTaNA

teFINSSN

maWWIRIugRNA

$8uu

PRI

Hufl 1 funau 2540

BRACKET, FOR AERIAL CABLE
TANGENT SUPPORT

LWUULR YT SA2-015/40018

wudl 1 vaEIM 1 oueu




“_”‘T PRELL

L

{

Arh A
06T

)

\

¢
i
Vi

srAckeT ,STEEL (1)

= -
v 4 ~ L
damman TRaLANR L i
MAT. NO. DESCRIPTICH MATERIAL AND FINISHING
warde @ IRRNHMICN MU weN. 55

HRE SRR MR TN
FLAT STEEL BARS ACC.TO TIS.55

ST
TG — A —
fiamtn  Ra 6 xBo w. @) IANAE LRSS URN AN RTITY
BOLT, MAGHNE M 16X B0 mm.  (2) MILD STEEL, HOT DIP GALV. |
ACC. TQ STANDARD
smadlc de o ® A ReEUR R MW RTI Y
WASHER ,LOCK , M 16 ® YSPR®NG STEEL,HOT DP GALV.
ACC. TO STANDARD
ns:‘}fama:nnﬁ'cu ':;ﬂl T g ~ ':-?m%w_-.*-.--.__--__‘
o) TN Y
e TS ¥ RAAAL @QHP ) L Tt A
: . _\ - :1 - oo %
Bms . o LW e =uw=-m2<nzz..rm.za-i
o) 3“ 1 ;_L:___ uﬁuumun,

(1050100003) « ey G :
06100003 121km'mamnudm frimind v inna

.

- ————

r.l;'lll.hl. ki

L)
wnt€iu .

-

wuw A SB1-01522011 |

- —

AL pechan | Ny




1,000

/SLOT 18x30

G = L - 13

—f40}——

isol—

/— SEE DETAIL A

—

MAT. NO. 1010200009

100

—-135|—-

f—

SR

j = r—-1_—SLOT 18x30
25

50 [ ¢,
T /0 ‘\\ ,"'
- - e18
WELDED
— 40 |— )
e
25
I
©18
DETAIL A
NOTE

[ —&o—

1. ANGLE STEEL 50 x 50 x 6 mm ACCORDING TO TIS 1227 TABLE 2, CLASS SMxxx
2. TO BE HOT DIP GALVANIZED ACCORDING TO PEA STANDARD

not to scale

nesaNATE LSz L

thesmssuuLaANUUsaR

s bvivhauglaa

WENUSELUABNE M ULYITALIN. YU 50x50x6 4L M2 1,000 354

BRACE, ALLEY ARM, 50x50x6 mm, 1,000 mm LONG




fPRELIMINARY ]

D¢
30 SO e __?__
= | 4
80 (& <b i eJ 100
{—-IA B E B A"_
C 6
| r
l - I
4 N
e
; ' dz
SLOT {S)
JARRaN IRy v
MATERIAL DIMENSIONS IN mm.
NUMBER JdUIRALYIAN L A | & C £ D% S
|STEEL SiZE | [(dy x ds)

01030005 6 x 100 | 900 |35 |59 |12 | 688 | 24 | 18 % 30

(1016030005) -
!

NOTE

1. PLATE, STEEL, ACCORDING TO TiS 55 TABLE 1.

2. HOT DiP GALVANIZED ACCORDING TO PEA'S STANDARD.

not to scale

6""?:";6 ; 2 ' - " -
S | NEMOESTWELUINEY dsinassuiasanaURoadiy nnsliindauniinna
r'x,\\l?-/&

.................

| ey, HRRNAT wRui, 1 gacdaua. sy
1



[Jo1 a8y
O6TU0-£6 ON UL

. E0NVD SSENDDHL ONILVCO DUENDVWOUIORT | ¥O , ISELO¥DIA |
INGANMISNI ONRNSVAN DUANOV V HLIM QEMNSVEW 8 TIVHS SNHWDHISHO0 ONILVCO €0 SSANDDIH, © LON

SL ze< -+ 7
001 9 <
c8 79~ 8%
SL Y >
9 7€ > “o1 "BLV1d ¥EOVdS “18ALS BLV'1d ‘LENO VY THLS
S 91 > ‘SIAEID JIOVA ‘Q¥VNO XNO ‘BTEAIHL XND ‘UOVud -
: ANIS
001 P9 <
G8 ¥o-T¢ Lrliod e
< 7€ > 99 'd0¥ ANNOYD “LUNOAVE
C o'l > “THALS WAVSSO¥D ‘BTONY THELS “TANNVHD “TiLS -
¢ HIVASTTVENION NS
“29 'SEIOVHS ¥OHONV 'HXH SIARID
o 5 ‘HXH TIVE ‘SIABTIO T1IVE “1T1Vd SIABTO X ‘“MOOH 11vd -
: STIOLYV daouod
: “29 ‘dAVTO NIVULS ‘SIABTO LEMNDO0S ‘HAH LAMOO0S -
%8 : SORILSVD
08 - aoY YOHONV -
€S SE9-9LY
£p oLy > YHHSVAMMIDOT “MHHSVYAM -
£S g 01 W ¥HAO -
Ev - 0l WOLdn -
: LON 2007 ‘LAN ‘NId ‘1104 -
! SHARAIS VA
el P




M 16 machine bclts s

Dimensions an

d Tolerances of M 16 Machine Bolts

in the takble below

hall have dimensions and }ole

rances as specified

the last thread of nut entering.

__{ M e— __"k l<———
] 3
m
>" ©
e G| 1
= 1
PEA : Dimensions in mm
Machine (Tolerances in mm )
T e 3
e s 1 b k @ m
16 130 356 13.3 26 gr 24 13
lo1110200 M 16x130 |,+ 0.95 + 5 + +2. + 0.9
(1010110260) p* G20y ket 20 6T pitiae? | - gl L L E 031
16 170 50 10.5 26 or 24 13
01110201 M 16x170 | + 0.95 + 3 + 6 +2.0 + 0
( ) | ( ) |( ) | ( I y | ( + 0.9)
(1o10110201) - 0.70 - 2 - 0 -0.9 = 0.8 -
16 200 50 10.5 26 or 24 13
01110202 |M 16x200 |,+ 0.95 + 3 + 6 +2.0 + 0
vl & s B e R 8 Bt e R L 0.9)
TS 16 250 75 10.5 26 or .24 13
0203 [M 16x250 |,+ 0.95 + 5 + B +2.0 + 0
(1010110209) tr oimn? | 282 iF < of Y529 |t - o.8? ( +0.9)
B 16 300 15 10.5 26 or 2 13
0204 |M 16x300 |, + 0.95 + 5 + 8 +2.0 + 0
b Ig
(1010110204) L 0.70} {af 2.6} (. ol (-0.9) e 0.8) ( +£0.9)
16 350 75 10.5 ., | 26 or 24 13
01110205 |M 16x350 |,+ 0.95 Sk + 8 +2.0, + 0
( ) : ( + 0.9)
(1010110208) = ool 12 siasllt - o) {-o.g;_,’ ( To.alft 2
e 16 400 100 10.5 26 or 24 13
M 16x400 |, + 0.95 + 5 + B8 42.0 + 0
d ( |G 2 { £ 091
(1010110206) - 0.70 - 2.88'|' - o) |‘<o.9’ (Zo.8 -
Eom— 16 450 100 10.5 26 or 24 13
07 |M 16x450 |,+ 0.95 + 7 08 +2.0 + 0
(1010110207) Gl B8 (0 AEVE ) g 0 U L - ARE S
- 16 500 150 10.5 26 or 24 13
M 16x500 |,+ 0.95 + 7 + 8 +2.0 + 0
(1010110208) (et I et Deiteess’ P < gl I % 0.8
Note Thread length (b) is measured from the end of the bolt to



Nominal Thread Diameters and pitches of Steel Bolts and Nuts

Bolts and Nuts shall have nominal thread diameters(d) and coarse

pitch (P) as specified in the table below

Nominal Coarse Pitch(P)
Thread Diameter (d) !
in mm in mm
6 1
8 1.25
10 i e
12 1.75
16 ?
20 2.5
24 3




TECHNICAL SPECIFICATION DIVISION

PROVINCIAL ELECTRICITY AUTHORITY

TOLERANCE
Specification No. - Approved date : 31 3UA. 2582 Rev. No.: 01 | Form No. : - Page1of2
MANHIN (Addendum)
il s1eazden AlAUARIALARRY | dydnwnl | JU
(aduns)

1 | sz uenyay (veuwméin 89 veuwbn) +5 -3 L (1)
SpEEINYAREEnaag Slot fis Yauman

2 p = = +5 -3 A 2
JrerINAUInatagnay i Yauwman

3 | sreranyeaudnansg Slot fs yaaudnag Slot + 2 -2 X1 ©)
sreraInNYRAUEnatgnay i yerudnategnax

a v = P +1 -1 X2 (4)
szavanyarudnatznay fis yaaudnang Slot

s vaduruAudnatsgna 10 dadwns fe 24 Tades | +1 -1 DO )
WUIng Slot + 1 -1 d1, d2

6 | svezindeatialate Bolt +8 -0 B (6)

NUELHR :

1.

4’ 10 QU H L4
aarwntaglidluly Tunsdidsdalull

1.1 fimsfwmusdmiueaaedevludeimuanameiaui

12 fefmuamanadalddrdafianassuanamnssu (uen.) deq dedinsivuasinn
aanedoulusnasgugramnTsy (ien.) Reananud

2. suuanssnene wardnydnuel Wgfl Page 2 of 2

° e o ¢ ¢ad & P 3/ 1 ar ¢ o s [ [ v 3
EYWTS'Uﬂ'l‘iG\S’JﬂiUﬁ’liﬂtL’ll‘i‘Vl\“ﬂEN&Jﬂ’]‘STJ'i%ﬂEJUﬂL‘N'I‘lJ‘i’JﬁJﬂ‘Uﬁ’l‘iﬂLL’J%"E)‘Nﬂ WU anUsenu, Aouman

Hudu PEA veanudnsluntsnassusenauldnusmfuendamndnanan Tunmsasadusie




PROVINCIAL ELECTRICITY AUTHORITY

TECHNICAL SPECIFICATION DIVISION

TOLERANCE

Specification No. - Approved date : JLUA 762 Rev.No.:01 | Form No.:- | Page2of2

LY 1 U Qs d
gﬂsmmmama (o atyanyo

N\,

| |
_._._C_L) __________ _® ..... [

< X2 P
_._._ED_ ....... . _)_ B

y L ) X2 s

SUN (1 Ul (8)
T _ _____ _(—'_ __)_ B —._-.— .............. ._ -
A i Do

A
A 4




	RHDW-013-2554_13022562

